(d-) BEH &k Fri E

Feif rrm peab

R AEES - - 3 558 KBBEEC

1S LS F2H~F1THESHES A, > x 1004

1.

4.

6.

Bl(- )5 53Tengizd » ¥ 8y
(B, B)KET o blde ] 2eniz % 5(2,4)
PR ET AN (F S A)

(1)L rent g 5
(2) ] Feniz % 5 ¢
(D& (3,0 ek F A

(DL a2, Denk F L

FE AEARETG o EiE(0,5)f(1,3)gE
AR5 o

FEAERETG o LB, DI, 2)ehE
AN o

BARET R P F DR AR
y=x>y=—2x+6 FRHIBAE -

56 e

$ 51 QAN | #
¥4 2 A g S

%33 Nz | FE

¥ 2 ) &7

F1H | &

Bl ¥2# $3# ¥AE Rop 6P
B(=)

3. REEBRETG &2, 4)F(8, T)hE
AR e

O 3 4 RIET G I ’ﬁs‘@(O,Zﬁr(l,%)ﬁ?E

A5 o

T B ARETH oo DA AN

y=x—1 y=3x+1> FFH I gA-



8. EARKETH > F 2 iFE AR AR 9. E&AHETe F G = r';'ﬁ_iifﬂ‘%ﬁi;\
y=2x+4~3y=6x+12 - H-Mmuizs®? Ix—y=6-6x—2y=6H-MmMEiP?
(P Ea-B ELRTHE) - (wEan-g ELsaTE) -

10, 2 &24&Tg b3 B3 450 11, 2 &A4%Ta >3 2 M3 42500
y=2x—5> F 4 E Ry phen2 G o Y=2x+8 At B M x e B AR -

12 2 & 3#Te 328 (—-2,1)~(2,3)~ 13 HI et fiﬂ—lw b 23 R y=4x+1
REEETES SRR T3 2 G RR(2, 1) s e

14, 2 4RETH > EHIRNy=0x+2B 15, B &AETH F > 283 R y=2+1
A p TIHIE o BT HEHE RS AR A 2 THIE T T HEPE A AR
e e ? et ?

16, ® & 2ET5 + %24 (1,2) 17 2 & @ETa > E-82.A(3,2)

7L

2 Ba,b+3)EE > fa b2 i 2 B(a ,2)3 AN yph o Kaz & o



